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AHAERT 98 117 116 233 IBTHN 12,033 11,899 13,071| 24, 970|%MET T H 149 152 129 281 A RAHAT 530 669 729 1,398
ARYHT 228 214 223 437 FEIT=TH 140 138 124 262|  JHEHIX 3,118 3,997 4,106 8,103
JEBT 352 331 379 710| 5 EHT 243 284 292 576(#MTIUT H 71 52 57 109
B 532 570 600 1, 170| iy 3,529 3,906 3,951 7,857 ANHFHHX 9,958 10,853 10,217| 21, 070|Ff/AHT 330 465 479 944
& HHT 306 309 335 644 FrifarlT 196 214 241 455 A ET 196 297 306 603
FE M 282 263 266 5297 FHIT 504 530 560 1, 090 Hr T 1,021 1,318 1, 367 2, 68551 LIMT— T H 672 832 949 1,781
)1 ET 118 121 129 250[TART 3,203 3,506| 3,626 7, 132|387 H AT 368 448 465 913[HILIET =T H 227 279 298 577
KAGHT 635 608 628 1, 236| HyRIAT 3,077 3,491 3, 652 7, 143[H 2 mT 1,675 1,864 2,025 3, 889 HR/JN =T 629 795 837 1,632
$RmT 17 13 20 33| gy 557 640 645 1, 285| H My 885/  1,101| 1,076 2, 177| L4 mT 1,389 1,801 1,925 3,726
FSHT 56 51 62 113| B ET 1,249  1,503| 1,543  3,046| #HemRHX 3,949 4,731 4,933| 9,664 FI/\iEHLX 3,443  4,469| 4,794 9,263
b= T 220 251 291 542| KARHT 153 164 171 335
drisET 71 57 65 122| A YERT 346 427 483 910| H- BT 2,624  2,962| 3,067 6, 029|% ELET 449 494 568 1,062
JUREHT 120 110 124 234| ERIT—T H 335 421 449 870( A/ \AHT 1,031 1,244  1,177| 2, 421|SEIGHT 269 368 368 736
HHET 154 118 104 222| HHIRET T H 394 482 439 921 /N J\AKHT 1,179) 1,457 1,437|  2,894|H % MHET 743 847 873| 1,720
TREHT 75 61 76 37| ERIT =T H 421 493 490 983| IE@L=FHT 392 481 541 1, 022 BT 185 245 241 486
FFIHET—T H 155 143 177 320( HEIRETIUT H 278 368 396 T64|[FEETE —T H 42 42 14 56| 5 HlT 989 1,266 1,348 2,614
FRIHET T H 118 124 130 254 IFRMIX 14,485 16,429| 16,938| 33, 367|REMTPE T H 100 103 86 189 E T 595 792 812| 1,604
FFIHET =T H 122 134 144 278 fErT—TH 241 223 269 492| - EHIX 3,230  4,012| 4,210] 8,222
FRTHETY T H 139 174 172 346| A1 JFLHT 3,500| 4,092 4,263 8, 355| M EiT T H 32 32 30 62
A FalT 450 449 523 972| T —T H 265 302 337 639|HEAT =T H 16 15 18 33| AR IT 5,324| 6,355 6,501 12,856
=F: L 22 18 24 42| RT =T H 567 654 714 1, 368|HEATIUT H 118 126 117 243 JFHT 142 187 223 410
iy 168 170 193 363[ TRl =T H 820 885 956 1, 841|#LfMT 1,763 2,127  2,217| 4,344 AEEFHX 5,466  6,542| 6,724 13,266
=R 49 32 49 81| HT 1,794 1,830] 2,020  3,850| Hf)I[HhX 7,538 8,812| 8,973| 17,785
T 179 158 185 343| FEfHAT 1,435 1,596 1,658 3, 254 RIRHT 401 528 566 1,094
RILHT 495 514 554 1, 068|ZLfHT 179 196 216 412( G FHnT 472 536 623| 1, 1595 HHET 467 546 580 1,126
(=) 35 32 33 65|\ FRH—TH 466 524 507 1, 031 | iy 2,130| 2,555 2,471 5, 026| & EFHT 530 678 616 1,294
fEFHET 87 73 88 161\ TRIT =T H 355 374 410 784 N BT 218 289 320 609| 75 5 HT 125 159 145 304
HEAHT 41 38 45 83N FRET=TH 418 475 517 992| &5 1,054| 1,275 1,370| 2, 645|#KJFHT 514 725 739 1,464
FHET 255 239 234 AT3[NFARETIY T B 374 435 487 922| ffIRET 478 592 600 1, 192| % HT 352 435 408 843
f=Lg 168 185 183 368| [ X 10,173 11,363 12,085| 23, 448|HE=HT 358 387 464 851|Jt 4T 474 618 638 1,256
T bET 603 646 668 1,314 J\ T 2,035 2,553] 2,620 5,173 H{s EHiX 2,863 3,689 3,692| 7,381
FEASHT 27 27 25 52| b EFmy 2,156  2,548| 2,634 b5, 182|F5 HET 122 168 172 340
ST 533 522 601 1, 123| =25 Eny 34 39 47 86( /% HIX 6,867| 8,355 8,640 16,995 LiHT 238 344 321 665
FRHT 26 29 32 61 - EmT 3,333 3,819 3,684 7,503 TERETHT 130 188 189 377
LT 182 169 181 350 L AHEHRT 347 412 464 876 f- 5 fi] W] 1,165 1,460  1,490| 2, 950| 7 HHET 139 204 195 399
JEET 192 173 212 385 2HT 609 623 628 1, 251| FE-frET 1,785 2,158  2,209| 4, 367| FiHEHT 360 486 460 946
AT 362 347 390 737| TSP HT 1,111 1,364 1,347 2, 7T11| s &-prmT 793 961| 1,000 1,961 j5mT 271 419 412 831
R AT 38 35 42 77| F 23T 1,275 1,658 1,667  3,325|dt/AfRET 408 480 532 1, 012| PR 0T 344 394 367 761
AT 1,614 1,681 1,829|  3,510[ F v /EHT 901 1,143) 1,134 2,277 B 4,151| 5,059 5,231| 10, 290 /\i&/FHT 292 418 440 858
fi FE T 219 222 255 477\ Hri% PAmT 406 488 492 980 ) | 1 (X 1,774 2,453| 2,384 4,837
izt 118 130 147 277| RJEIT— T H 485 577 546 1, 123|7HT 461 572 576 1,148
F T 157 145 152 297| HRJEET T H 1, 404 1,537 1,809 3, 346|459 HulT 410 547 528 1, 075\ AT =/ £ 484 656 670 1,326
‘= IehT 198 187 246 433 HERT =T H 598 693 753 1, 446| AL HT 150 210 202 412| APAIRTHE 431 585 580/ 1,165
Amy 187 158 196 354| HERTIUT H 590 714 703 1, 417|47 7107 131 182 192 3TA| B BT KA 167 245 248 493
JEAHERET 62 53 31 84| WMy 849 977 1, 000 1, 977| k)1 1,117 1, 462 1,529 2, 991 [ A pHINT K 118 163 170 333
A1) 328 350 414 764|Fi1HH £ Hr T 543 584 544| 1, 128|FE T 355 451 479 930| & AT 7 354 441 474 915
)1y 244 195 266 461| fEEFHIX 14,641 17,176 17,452| 34, 628|%RHT 4217 548 570|  1,118] ATAHX 1,554| 2,090 2,142 4,232
1L FHET 113 109 106 215 Fhldemy 224 301 316 617
S1) 87 81 96 177| b/ sy 778 909 964| 1,873 EHX 3,275 4,273|  4,392| 8, 665|5EAKHTPEH R 712 932| 1,001 1,933
Pu > T 40 48 43 91| F/tgmT 441 570 632 1,202 FESRHT & B 82 109 123 232
el 47 60 54 114 kAT 3,034 3,144| 2,753 5, 897| ERJEAT 1,102 1,315 1,328 2, 643| FEHRHTHA Z IR 340 231 207 438
G mT 83 90 76 166 T/ EHT 2,118 2,319 2,192 4, 511|145 KAHHT 274 388 409 EHER P S 835 1,186 1,191 2,377
JHIAERT 234 235 275 510| T/ gHT 1, 545 1, 642 1,580 3, 222|4eImHT 604 823 838 1, 661 | FEHRmT HH = 397 558 561 1,119
FEHAHT 421 362 423 785| HUAHET 1, 395 1, 655 1,580 3, 235| F AT 403 547 555 1, 102| ZARRT 2 1,151 1,503 1,588 3,091
i FH T 171 168 159 327k —TH 287 272 206 478| FF AT 205 255 247 502 FEAPHT ¥ 679 944 980 1,924
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M [ 323 508 502 1, 010| & FMT J7 1L 189 296 281 577
FEHRMT 201 301 302 603| 5 HMTAYD 453 633 623 1, 256
FEPRETFT A (L 143 199 220 419 & HETH) 1 275 362 357 719
FEHRMT )1 412 558 588 1, 146 & Hu7 480 714 673 1,387
FEYRIT P 6 5 10 15[ & HHT % H 402 563 596/ 1,159
FEHRMTAAAIR 804| 1,149 1,187 2,336 FMTLH] 97 151 159 310
FEGRET A i 1, 469 1,933 2,017 3, 950| & H-HT 5 31 47 51 98
PR HE X 7,554 10, 116| 10,477| 20, 593 & H0T 4R 285 409 434 843
EEaalp: 210 203 238 441
Sl ET 3,192 4,141 4,310 8, 451|FHHETHA 39 62 60 122
paislag 1,416 1,788 1,929 3, T1T| &5 HHT R 14 14 20 34
5| FE T 412 566 611 1, 177| E T R 363 531 548 1,079
3=t 1) 142 196 209 405| 5 HBTRIR 41 60 74 134
T faf v ] 235 268 268 536 & H-HT 1 120 179 170 349
77K T 71 114 106 220| 5 HHTH S 127 206 211 417
% JE[RIET 67 104 108 212| EHET/NER 325 451 474 925
B S HT 174 269 266 535 & HHT L AE 105 169 186 355
V5[ 5y HT 213 319 314 633| E HHT I 162 229 212 441
b Iy 322 394 371 765 & FHHT /N 201 307 312 619
T e AT 2,897|  3,833| 3,752| 7, 585| TS 521 735 723 1,458
AT 1,076 1,351 1,365 2, T16| EFRTRI A — T H 322 408 434 842
=AY 661 901 910 1, 811|EFMrEEE T H 349 443 482 925
R AT 1,329 1,643 1,614 3,257 EHFHETEIEAE =T H 242 338 328 666
[iZ1=1a) 1,077 1,402 1,352 2, 754|575 HEHT 1% 287 432 432 864
rh ELET 391 515 543 1, 058| & HHT T B 93 130 142 272
PR T 566 766 783 1, 549| & FRMT b B 141 202 199 401
FEHET 485 612 677 1,289\ F AT O 60 96 89 185
RER X 14,726 19,182 19,488| 38,670| #HFHIX 9,032 12,480| 12,760 25,240
iy 5,459  6,277| 6,425 12,702
T b X 5,459 6,277 6,425 12,702
R T 1,170]  1,596| 1,692| 3,288
rh = AT 971 940 1,147 2,087
S AT 460 647 639 1,286
B4 LT 119 71 101 172
R4 IHIRT 46 46 65 111
R ERT 343 522 546 1,068
LT 870 1,175 1,243 2,418
o L LT 664 933 917| 1,850
- HLRRT 981| 1,320 1,393 2,713
AT 848| 1,186 1,178 2,364
e T 679 941 978 1,919
FaHT 179 233 263 496
+- 3T 196 296 271 567
B PRHT 331 492 479 971
=Y FRET 106 144 140 284
[URLa) 117 165 167 332
R4 X 8,080 10,707 11,219 21,926
E R 629 806 810 1,616
IR E IR 1,170 1,431 1,498) 2,929
E R RAR 217 320 334 654
IR RAR 943 1,337 1,394 2,731
2 HEET/M 139 216 216 432 w A E 153, 369| 184, 964| 190, 353| 375, 317




